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Zlogx=-224 - logy=928 » Bl x*y % 1o F #1448 & R ?
(A)(10%,10%)  (B)(10%,10%)  (C)(10°,105)  (D)(10%,107) [113CI6])

Ans 1 (B)
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(A)159  (B)168  (C)252 (D) 283 [113C22]

Ans 1 (C)
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BATEE LR KA RE THEGRE - RE(EM | B8 AWE W KA M AR
HoRegse g AP ML AT ¢ logll=118+1.50 - B 3§ BB AL geq FEH Ry
REE E BB A B AT ? [112C19])

(A) (B) ©) (D)
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R

Ans T (A)
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#x=log,7 - RBI'F BT K Ak T

(A)7° =3 (B)3 =7 (O)x' =3 D)x' =7 [111C01])

Ans 1 (B)
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BTERDREBRBELR XA RAL ELLENEFERE NS E QLR ERAL
B ATHEL B 4 50% = 2 8) & B FARE R & & r (3§ SFA0 AT — Y F 45 Ho )& SE R = 24k
BEPAE - 5 R R AR - AT AT H B4 2 (log0.5~-03010 ~ log8.91~0.950)
(A)0.91<r<0.93 (B)0.88<r<0.91 (C)0.85<r<0.88 (D)0.82<r<0.85  [111C21]

Ans 1 (B)
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B I(0) Ay A KT KA Foom e T BORE 0 BI()=———— > 120 > Fa~bcHl
1+ 49(7%)

Fat=0 (=3 - (=630 R R - AT f7HFek ?
(A)b=6a (B) ¢ =20a (C)c=4b (D)b=7a [110C07])

Ans 1 (C)
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B d k@ y=log,xBMRAKy=0 - x=3AEERGH > Bl - & UEFTEBHBA
)
" A x=3
RN A AN - AT ST B 9 : 0
yv=log, x

- /

1 1
A0<d< B)S<A<l (©)1=4<2 D)422 m T [110C25)

Ans : (C) /
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MR a el P U R EPR S EA—BEARAE) BT HEFF L 3%MAH - BE
HE—R - BFEAN20 KT RI0BEABETLRE > AEREBAET2 EAF - EAHY
%% ? (log,,1.03~0.0128 * log,;1.3~0.1139 » log,, 2~0.3010 » log,,3~0.4771)

(A)24  (B)34 (O)44  (D)54 [109C12])

Ans 1 (C)
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#Rlog (N A3+ H BEWMEH xR 5 VA
A3 B4 (©5 D)7 [109C16)

Ans T (A)
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#&3<log,;(2x+1)<4 - Bl x eh FE BT 7

3 1 7 3 15 7 31 15
Ay——<x<—— B——<x<—— O)——<x<—— D)y——<x<—— 108C 02
(&) 8 4 B) 16 8 © 32 16 () 64 32 [ ]

Ans 1 (C)
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log,, 7

+ — | X — c?

& x log, 9 A8 =7

(A)3 B)7 (C) 25 (D) 49 [107C12]
Ans 1 (D)
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*a=log,,05 ~ b=log,5 ~ c=log, 50 » Bl a~ b ~c KANER BT ?

(A) c>b>a B) b>a>c (C) b>c>a (D) a>b>c [107C23])

Ans 1 (C)
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1.5 1.z 1.:
g‘;’ta:(a)z ’ b=(§)3 . C=(g)6 C Rl a~ b oty RANEF B T
(Aya>c>h B)ya>b>c (COyc>a=>b Db>c>a [106C14]

Ans 1 (C)
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1 20 ¥ y s VR
& 4o log,,3=0.4771 H_xz(g) R log xth BB A m MERNIEBIEE —SHTSH
ne Alm+n="7?
(A)=9  (B)-7 (C)=6  (D)-5 [106C15]

Ans 1 (C)
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aalog,2=p » log,,3=q * jilog£36—logl6+log6\ﬁZ{E_ >

4]
P9 g3 2PY9 (o34 28T (s 2P
2p+2g 2p+2g 2p—2g 2p—2q

(A)5+ [105C14]

Ans T (A)

225



®a=(0.D" > b=(0.2)* » ¢=(0.2)° » AI'F FIfTH E2k ?
(AYa<bh<ec (Bec<a<bh (Ob<a<e (D)b<c<a [105C15])

Ans T (A)
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Ehom o n BEH - % mlog,,, S+nrlog,,V2=1 " Al m+n=?
A7 B8  (©9 (D)10 [104C14])

Ans T (A)
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Shoa-~bAEH B3 =5>5=9-8lah=2
(A) log,, 45 (B) log,5 (©)2 (D)3 [104C23)

Ans * (C)
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1 ? 1 1 b 1 1 c 1
2| — = | — = | — = » gl b = i s ”“‘“\U?
x[ ] (4] 2500 (g] s Ala b o SRS R 1

(Ab<c<a (Byc<b<a (COye<a<h Dya<hb<c [103C11])

Ans T (A)
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2+log,, 4- :1;10g10 216+£1110g10 625+;10g10 243

=] FRE AT

6 7 8 9
1+log, §+10g2 §+10g2 g+310g8 §+210g4 §—10g4 9

(A) 1 (B)% C©2 (D)3 [103C23])

Ans 1 (D)
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23234243 5 B x=?
1 3
(A) - B)1 (O > (D)2 [102C03]

Ans 1 (C)

231



C4ra>0b>0 azl-3%a =5 8llog b= ?

5 3 3 5
(A) 3 (B) 3 (©) 3 (D) 3 [102C04]
Ans 1 (D)
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T T logl+log2+1og3+1logd+log5—logb ey A sk A4t ?
(E4olog2 B #1 % 0.301 - M log3 & # & 0.4771)
(A)0.1  B)LS ()53 (D)6.2 [101C05])

Ans 1 (B)
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3x+k

Choy=2"thEMBEE C:x"+y° —2ay =02 Fww - HFEHCEAR L y= Ay R
log, a+log, (k—4)* Z 5 & f7] ?
A1 B2 ()3 (D)4 [101C20]

Ans 1 (B)
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223864 =4 - Bla=2

19 29 19 29
A) — B) — C) — D) — 100C01
(A 55 B 3 © 1 D) [ ]

Ans T (A)
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X 3 27 36
;j{logﬁi—logzm+log4g= ?

5
[100C24)

7 9 11
@ ®g ©5 O

Ans 1 (C)

236



. : 1
% p B g AF R log,(10x* —6x+35)—log, x—1=0 & FHi% - a\qm= ?

1 1 2 5
A - ®3 ©3 @M [99C07]

Ans T (A)
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R AA R ﬂ5f=4(%+f)2 PRI =2

(A) g (B) % (©8  (D)10 [99C20]

Ans 1 (A)
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o~y A EEE - 2 2log(x—2y)=logx+logy + A Y 2 44 A by 9
y

A1 B2 (©3 (D)4 [98C10]

Ans 1 (D)
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2% 3% - Sﬁ%ﬁﬁﬁxz—x+$=0éﬁrﬂﬁ&’ Moa+pf=7
(A)—4  (B)—2 (C)2 (D) 4 [98C1]

Ans T (A)
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